11.5 Operations around research plots. Assume that the managers of the Daniel Pickett forest have decided to clearcut stand 28. They noticed, just prior to allowing loggers to begin operations, that a research plot (number 3) was located in the stand. If a 100 meter buffer was left around the research plot,
a) How much forest area in stand 28 will actually be clearcut?
115.2 acres

46.6 hectares
b) If timber values were $400 per thousand board feet (MBF), what is the value of timber that will remain around the research plot [hint: attribute ‘Mbf’ represents thousand board feet of timber volume per acre]?


$972,254

c) What is the difference in timber volume and value between leaving the buffer around the research plot and not leaving the buffer?




Acres

Hectares

Value

Buffer

115.2

46.6


$972,254


No buffer
123.0

49.8


$1,037,749

d) Develop a map that describes the vegetation conditions on the forest after the harvesting operation has completed. Assume that the 100-meter buffer was maintained around the research plot. Illustrate on the map (either with annotation or with a shading scheme) the basal area of all of the stands.
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